B02
e £ (2 44)

[*523% %) .EIJT
1A% E£1T » & ﬂm#rﬁlﬁﬂ

Zjiﬁuﬁélwﬁﬂ4i&mdﬁﬁhﬁﬁ&ﬂ N T
PR 604 48 o
CIEERER LA R R F R F (L) RS A
%g+«%%rgpo+éipé&1 ;’r‘gﬂ SR
HEH) o

-~ TEWB R R p AB% 2% (Fail-safe) 2 A KR 5 P25 FE2
g L2 W3 2(224)

5
Y
W
=
&
¢
(w

S B TEAT R A B BEPRE A 0 - A P PER e i
?4;9‘?33%_@&%%%]!/ ‘g’_n} /b & *1‘(‘177 },%’E] ?(20’4"\>

i

AT EFE MR EE et g2 2 AU R R A
Bh 2 FAE P 2 (204)

o BB p PMFEREL T T R T FREERAET i 5"33@
FE e T ED Y T #ifprﬁé%a”ﬁé? 2fE iR A
TE2 2,2 (204)

(%)

VAR RS T S i 2R %éii’féuﬁﬁ\ﬁ%@ﬁ
8F > 5 LRI R > R 2 AT B2 H0w 7 (184)

%17 5 &

|
|+
b



